A RATIO

RATIO

A.1 EXPRESSING RATIOS IN DIFFERENT FORMS

3
Ex 1: The ratio of 3 to 2 is : or .

Answer: The ratio of 3 to 2 can be written as -

4
Ex 2: The ratio of 4 to 5 is : or .

Answer: The ratio of 4 to 5

Ex 3: Th f 3 743 =.
X eratioof 7 to 3 1s or

Answer: The ratio of 7 to 3 can be written as 7

Ex 4: The ratio of 6 to 9 is @@ or %

Answer: The ratio of 6 to 9 can be written as 0

B PART-PART RATIOS

B.1 FINDING
RELATIONSHIPS

RATIOS IN

Ex 5: What is the ratio of girls to boys?
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Answer:

e There are 2 girls.
e There is 1 boy.

e The ratio of girls to boys is 2 : 1.

Ex 6: What is the ratio of girls to boys?

20D o
"g*? \--/:?F

Answer:

e There are 2 girls.

e There are 3 boys.

:2or

5 can be written as 4 :

13 or

DN | o

at
[S1 TSN

or

Wl

:9or —.

PART-PART

e The ratio of girls to boys is 2 : 3.

Ex 7: What is the ratio of triangles to circles?
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Answer:
e There are 3 triangles.
e There is 1 circle.

e The ratio of triangles to circles is 3 : 1.

Ex 8: What is the ratio of circles to triangles?
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Answer:
e There are 4 circles.
e There are 3 triangles.

e The ratio of circles to triangles is 4 : 3.

C PART-WHOLE RATIOS

C.1 FINDING
RELATIONSHIPS

RATIOS IN

Ex 9: What is the ratio of girls to kids?
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Answer:

e There are 2 girls.

e There are 3 kids.
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e The ratio of girls to kids is

Ex 10: What is the ratio of girls to kids?

Answer:

WHOLE-PART



e There are 5 kids.

e There are 2 girls. & i i & ‘ i
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e The ratio of girls to kids is 5

Answer:
Ex 11: What is the ratio of triangles to shapes?
e There are 4 red apples.

Q e There are 6 apples in total.
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The ratio of red apples to all apples is 5
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e There are 3 triangles.
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e There are 4 shapes. The simplified ratio is 3"
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* The ratio of triangles to shapes is 4 Ex 15: What is the ratio of red apples to all apples (write in

simplified form)?
Ex 12: What is the ratio of circles to shapes?

OCO000 HBHHS

|

Answer: Answer:
e There are 4 circles. e There are 3 red apples.
e There are 7 shapes. e There are 6 apples in total.

e The ratio of circles to shapes is =

The ratio of red apples to all apples is %

D EQUIVALENT RATIOS . ii&‘ii

The simplified ratio is 5 (half are red).

D.1 SIMPLIFYING RATIOS

Ex 13: What is the ratio of red apples to all apples (write in
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Answer:

There are 2 red apples. Answer:

Ex 16: What is the ratio of red apples to all apples (write in

e There are 4 apples in total. e There are 3 red apples.

2
The ratio of red apples to all apples is 1

T
The simplified ratio is J (half are red). . TR

The simplified ratio is 3"

e There are 9 apples in total.

3
The ratio of red apples to all apples is 9

Ex 14: What is the ratio of red apples to all apples (write in
simplified form)?
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E PART IN WHOLE-PART RELATIONSHIPS

E.1 FINDING PARTS IN WHOLE-PART
RELATIONSHIPS
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